Step 1-:- Add th.e gramls (g). + 2 488
Step 2: Add the kilogrammes (kg). —L

l.@kg g kg g @kg g kg g il kg g
1 304: 2 543: 2 (98 3396 4 726
+ 1279 + 3,199 + 1 043- % 2 438 ¢ 3195

2. Muyd’s suitcase weighs 6kg 240g. Mam’s suitcase weighs 2kg 538g more than Myd’s.
How much does Mam’s suitcase weigh? kg g

3. Abag of potatoes weighs 3kg 3769. A second bag of potatoes weighs 4kg 297g.
What is the total weight of the 2 bags of potatoes? kg g

e '1 : enam i o st!

Step 2: Subtract the grammes (g). _
Step 3: Subtract the kilogrammes (kg). 261 ,;

4. @kg g kg g (kg g kg g i kg g
3TN S 6 M2%4: 6 492 5 76
=438 -~ T B7: = 5 153 =g 50 = 9 143

Challenge




Weight — Problem-solving
1. Fill in the values of each weight. SRR

.............................................................................................................

(b) 1kg =

.............................................................................................................

(c) 1kg=

.............................................................................................................

(d) 500qg =

.............................................................................................................

(e) 250¢g =

(a) What is the total weight of the telescope and skateboard? kg g
(b) What is the total weight of the rollerskates and scooter? kg g
(c) How much heavier is the telescope than the skateboard? kg g

(d) The shopkeeper has €10 to spend on posting all these items in one parcel. If it
costs 50c for each 1kg you post, how much money will he have left? €

(e) What is the total weight of all 4 items? kg g




